



DATE: March 1, 2021

MEMO TO: Jessica Vealitzek, Chair

Operations Committee

FROM: James L. Anderson

Director of Natural Resources

RECOMMENDATION: Recommend Approval of a Resolution Awarding Contracts for Native Seed Purchases for Multiple Preserves to Shooting Star Native Seed in the Contract Price of \$87,629.20; Cardno Inc., in the Contract Price of \$68,831.68; Agrecol, LLC in the Contract Price of \$61,785.76; and Genesis Nursery in the Contract Price of \$59,257.23.

STRATEGIC DIRECTION SUPPORTED: Conservation

<u>FINANCIAL DATA</u>: The native seed supply for the various projects was approved as part of the adopted FY 2020 and FY 2021 budgets. The estimated cost for seed supply was \$311,000.00. The cost of purchase and delivery of native seed for the various projects under the contract that would be approved by the attached resolution is \$277,503.87. The following accounts and funds will be charged for the various projects:

AMOUNT	FUND OR PROJECT ACCOUNT	ACCOUNT NUMBER
\$47,832.14	Habitat Restoration	11104100-803200-60004
\$22,916.19	Farm Management – Cover Crop	28644000-705100-62804
\$25,886.32	Grant Woods Climate Resiliency Grant	20104100-803200-60607
\$180,869.22	Grant Woods Restoration Donation	20104100-803200-60604

The bids under \$25,000.00 that do not require Committee and Board approval total \$9,084.19, and combined with the contracts that would be approved by the attached resolution, total \$286,588.06.

BACKGROUND: The District will be installing native seed in the fall of 2021 at multiple Forest Preserves as part of ongoing ecological restoration efforts. Additionally, a small amount of seed will be purchased to support in-house natural resource management projects and volunteer efforts following various habitat restoration efforts. Seed installation will occur across more than 501 acres.

The project was advertised on December 18, 2020 and bids from five bidders were received. A summary of the lowest bidders and the total of their low bids is listed below:

LOWEST BIDDERS AT OR GREATER THAN \$25,000	TOTAL BID
Shooting Star Native Seed; Spring Grove, MN	\$87,629.20
Cardno, Inc.; Walkerton, IN	\$68,831.68
Agrecol LLC; Evansville, WI	\$61,785.76
Genesis Nursery, Inc.; Tampico, IL	\$59,257.23

SUCCESSFUL BIDDER UNDER \$25,000.00

Applied Ecological Services, Inc.; Brodhead, WI \$9,084.19

Materials were bid on a unit price per species. For this project, staff has already awarded a contract to Applied Ecological Services for the total of its low bids, which is less than the Purchasing Policy threshold that requires Committee recommendation and Board approval (\$25,000.00).

Shooting Star Native Seed, Cardno, Agrecol, and Genesis Nursery each submitted total low bids greater than \$25,000.00, thus requiring Committee recommendation and Board approval of the contracts for those bids. Staff recommends that Shooting Star Native Seed, Cardno, Agrecol, and Genesis Nursery each be awarded a contract as the lowest responsible bidder for the species for which it was the low bidder. Work is anticipated to begin in fall 2021 and be completed by winter 2021/2022.

REVIEW BY OTHERS: Chief Operations Officer, Director of Finance, Purchasing Manager, Corporate Counsel

STATE OF ILLINOIS)
) SS
COUNTY OF LAKE)

BOARD OF COMMISSIONERS LAKE COUNTY FOREST PRESERVE DISTRICT REGULAR MARCH MEETING MARCH 9, 2020

MISTER PRESIDENT AND MEMBERS OF THE BOARD OF COMMISSIONERS:

Your **OPERATIONS COMMITTEE** presents herewith "A Resolution Awarding Contracts for Native Seed Purchases for Multiple Preserves" and requests its approval.

LAKE COUNTY FOREST PRESERVE DISTRICT LAKE COUNTY, ILLINOIS

A RESOLUTION AWARDING CONTRACTS FOR NATIVE SEED PURCHASES FOR MULTIPLE PRESERVES

WHEREAS, the Lake County Forest Preserve District (the "District") has advertised in <u>The News Sun</u> for sealed bids to purchase native seed for Fall 2021 Habitat Restoration at Multiple Forest Preserves (the "Products"); and

WHEREAS, all sealed bids were received and opened by the District at its General Offices, 1899 West Winchester Road, Libertyville, Illinois, on January 21, 2021, at 11:00 a.m.; and

WHEREAS, the lowest bids received by the District are listed on Exhibit A; and

WHEREAS, the District's staff; the Purchasing Manager; the Director of Natural Resources; and the Operations Committee have reviewed the bids identified on Exhibit A and recommend that the Board of Commissioners find (i) Shooting Star Native Seeds to be the lowest responsible bidder with respect to the bids that it submitted and which are listed on Exhibit A (the "Shooting Star Native Seeds Bids"), (ii) Cardno, Inc. to be the lowest responsible bidder with respect to the bids that it submitted and which are listed on Exhibit A (the "Cardno, Inc. Bids"), (iii) Agrecol LLC to be the lowest responsible bidder with respect to the bids that it submitted and which are listed on Exhibit A (the "Agrecol LLC Bids"), and (iv) Genesis Nursery, Inc. to be the lowest responsible bidder with respect to the bids that it submitted and which are listed on Exhibit A (the "Genesis Nursery, Inc. Bids") and award contracts for the Products to these bidders consistent therewith; and

WHEREAS, the Board of Commissioners hereby finds that Shooting Star Native Seeds, Cardno, Inc., Agrecol LLC, and Genesis Nursery, Inc. are the lowest responsible bidders for the Products as stated in the previous clause;

NOW, THEREFORE, BE IT RESOLVED by the Board of Commissioners of the Lake County Forest Preserve District, Lake County, Illinois, **THAT**:

<u>Section 1:</u> <u>Recitals.</u> The recitals set forth above are incorporated as a part of this Resolution by this reference.

Section 2: Award of Contract. The Shooting Star Native Seeds Bids in the total amount of \$87,629.20 (the "Shooting Star Native Seeds Contract Price") are hereby accepted and a contract for Products in the amount of the Shooting Star Native Seeds Contract Price is hereby awarded to Shooting Star Native Seeds (the "Shooting Star Native Seeds Contract"). The Cardno, Inc. Bids in the total amount of \$68,831.68 (the "Cardno, Inc. Contract Price") are hereby accepted and a contract for Products in the amount of the Cardno, Inc. Contract Price is hereby awarded to Cardno, Inc. (the "Cardno, Inc. Contract"). The Agrecol, LLC Bids in the total amount of \$61,785.76 (the "Agrecol, LLC Contract Price") are hereby accepted and a contract for Products in the amount of the Agrecol, LLC. Contract Price is hereby awarded to Agrecol, LLC (the "Agrecol, LLC Contract"). The Genesis Nursery, Inc. Bids in the total amount of \$59,257.23 (the "Genesis

Nursery, Inc. Contract Price") are hereby accepted and a contract for Products in the amount of the Genesis Nursery, Inc. Contract Price is hereby awarded to Genesis Nursery, Inc. (the "Genesis Nursery, Inc. Contract"), (collectively, the Shooting Star Native Seeds Contract, the Cardno, Inc. Contract, the Agrecol LLC Contract, and the Genesis Nursery, Inc. Contract are the "Contracts").

<u>Section 3:</u> <u>Execution of Contracts.</u> The Executive Director of the District is hereby authorized and directed to execute the Contracts for the Products in the amounts of the Shooting Star Native Seeds Contract Price, the Cardno, Inc. Contract Price, the Agrecol LLC Contract price, and Genesis Nursery, Inc. Contract Price.

<u>Section 4:</u> <u>Payments.</u> The Treasurer shall make payments under the Contracts only pursuant to and in accordance with the Contracts' terms.

Section 5: Effective Date. This Resolution shall be in full force and effect from and after its passage and approval in the manner provided by law.

PASSED this ______ day of _______, 2021

AYES:			
NAYS:			
APPROVED this	day of	, 2021	
			Angelo D. Kyle, President
			Lake County Forest Preserve District
ATTEST:			
Julie Gragnani, Secretary			
Lake County Forest Preserve	District		
Exhibit No.			

EXHIBIT A

VENDOR ORDER: SHOOTING STAR NATIVE SEED

SPECIES	COMMON NAME	TOTAL PLS LBS	UNIT PRICE (\$/PLS LB)	EXTENSION PRICE		
PROJECT #1: CAHOKIA UPLAND	PROJECT #1: CAHOKIA UPLAND					
Carex annectens	LARGE YELLOW FOX SEDGE	0.51	\$94.00	\$47.94		
Danthonia spicata	POVERTY OAT GRASS	3.25	\$549.00	\$1,784.25		
Elymus canadensis	CANADA WILD RYE	109.00	\$8.90	\$970.10		
Elymus villosus	SILKY WILD RYE	50.00	\$64.00	\$3,200.00		
Glyceria striata	FOWL MANNA GRASS	0.34	\$139.00	\$47.26		
Hystrix patula	BOTTLEBRUSH GRASS	25.00	\$72.00	\$1,800.00		
Aquilegia canadensis	WILD COLUMBINE	1.12	\$424.00	\$474.88		
Aster lateriflorus	SIDE-FLOWERING ASTER	0.20	\$824.00	\$164.80		
Aster macrophyllus	BIG-LEAVED ASTER	1.00	\$919.00	\$919.00		
Dodecatheon meadia	SHOOTING STAR	0.34	\$1,149.00	\$390.66		
Gentiana flavida	YELLOWISH GENTIAN	0.34	\$394.00	\$133.96		
Lobelia inflata	INDIAN TOBACCO	0.17	\$999.00	\$169.83		
Osmorhiza claytonii	HAIRY SWEET CICELY	6.50	\$319.00	\$2,073.50		
Polygonatum canaliculatum	SMOOTH SOLOMON'S SEAL	1.50	\$319.00	\$478.50		
Rudbeckia hirta	BLACK-EYED SUSAN	1.70	\$27.00	\$45.90		
Rudbeckia laciniata	WILD GOLDEN GLOW	2.00	\$219.00	\$438.00		
Rudbeckia subtomentosa	SWEET BLACK-EYED SUSAN	0.34	\$149.00	\$50.66		
Thalictrum dasycarpum	PURPLE MEADOW RUE	1.70	\$159.00	\$270.30		
Zizia aurea	GOLDEN ALEXANDERS	1.70	\$88.00	\$149.60		

PROJECT TOTAL: \$13,609.14

PROJECT #2: CAHOKIA WET

Calamagrostis canadensis	BLUE JOINT GRASS	0.22	\$714.00	\$157.08
Carex annectens	LARGE YELLOW FOX SEDGE	0.45	\$94.00	\$42.30
Carex cristatella	CRESTED OVAL SEDGE	0.45	\$229.00	\$103.05
Carex stipata	COMMON FOX SEDGE	2.24	\$279.00	\$624.96
Glyceria striata	FOWL MANNA GRASS	0.22	\$139.00	\$30.58
Aster lateriflorus	SIDE-FLOWERING ASTER	0.18	\$824.00	\$148.32
Bidens frondosa	COMMON BEGGAR'S TICKS	0.22	\$234.00	\$51.48
Chelone glabra	TURTLEHEAD	0.45	\$979.00	\$440.55
Eupatorium perfoliatum	COMMON BONESET	0.18	\$519.00	\$93.42
Lobelia cardinalis	CARDINAL FLOWER	0.45	\$1,094.00	\$492.30
Lobelia inflata	INDIAN TOBACCO	0.22	\$999.00	\$219.78
Rudbeckia laciniata	WILD GOLDEN GLOW	2.00	\$219.00	\$438.00
Thalictrum dasycarpum	PURPLE MEADOW RUE	0.90	\$159.00	\$143.10

PROJECT TOTAL: \$2,984.92

SPECIES	COMMON NAME	TOTAL PLS LBS	UNIT PRICE (\$/PLS LB)	EXTENSION PRICE		
PROJECT #3: NRC PRAIRIE	PROJECT #3: NRC PRAIRIE					
Andropogon scoparius	LITTLE BLUESTEM GRASS	15.00	\$12.40	\$186.00		
Carex bicknellii	COPPER-SHOULDERED OVAL SEDGE	0.50	\$214.00	\$107.00		
Carex gravida	LONG-AWNED BRACTED SEDGE	0.31	\$444.00	\$137.64		
Elymus canadensis	CANADA WILD RYE	10.00	\$8.90	\$89.00		
Panicum virgatum	SWITCH GRASS	0.31	\$6.40	\$1.98		
Aster azureus	SKY-BLUE ASTER	0.13	\$464.00	\$60.32		
Aster laevis	SMOOTH BLUE ASTER	0.06	\$244.00	\$14.64		
Aster novae-angliae	NEW ENGLAND ASTER	0.13	\$354.00	\$46.02		
Pycnanthemum virginianum	COMMON MOUNTAIN MINT	0.06	\$594.00	\$35.64		
Rudbeckia hirta	BLACK-EYED SUSAN	0.06	\$27.00	\$1.62		
Thalictrum dasycarpum	PURPLE MEADOW RUE	0.63	\$159.00	\$100.17		
PROJECT TOTAL:				\$780.03		

PROJECT #4: NRC WOODLAND

THOUSET !! NTIME !! COSSIII	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			
Carex brevior	PLAINS OVAL SEDGE	1.25	\$109.00	\$136.25
Elymus canadensis	CANADA WILD RYE	10.00	\$8.90	\$89.00
Elymus villosus	SILKY WILD RYE	1.56	\$64.00	\$99.84
Hystrix patula	BOTTLEBRUSH GRASS	5.00	\$72.00	\$360.00
Aquilegia canadensis	WILD COLUMBINE	0.13	\$424.00	\$55.12
Aster lateriflorus	SIDE-FLOWERING ASTER	0.06	\$824.00	\$49.44
Lobelia inflata	INDIAN TOBACCO	0.06	\$999.00	\$59.94
Osmorhiza claytonii	HAIRY SWEET CICELY	0.50	\$319.00	\$159.50
Rudbeckia hirta	BLACK-EYED SUSAN	0.06	\$27.00	\$1.62
Rudbeckia subtomentosa	SWEET BLACK-EYED SUSAN	0.13	\$149.00	\$19.37
Thalictrum dasycarpum	PURPLE MEADOW RUE	0.63	\$159.00	\$100.17
Zizia aurea	GOLDEN ALEXANDERS	0.63	\$88.00	\$55.44

PROJECT TOTAL: \$1,185.69

PROJECT #5: NRC WETLAND

Calamagrostis canadensis	BLUE JOINT GRASS	0.06	\$714.00	\$42.84
Carex annectens	LARGE YELLOW FOX SEDGE	0.13	\$94.00	\$12.22
Carex cristatella	CRESTED OVAL SEDGE	0.31	\$229.00	\$70.99
Carex stipata	COMMON FOX SEDGE	0.63	\$279.00	\$175.77
Elymus canadensis	CANADA WILD RYE	0.63	\$8.90	\$5.61
Glyceria striata	FOWL MANNA GRASS	0.13	\$139.00	\$18.07
Spartina pectinata	PRAIRIE CORD GRASS	1.00	\$59.00	\$59.00
Eupatorium perfoliatum	COMMON BONESET	0.16	\$519.00	\$83.04

PROJECT TOTAL: \$467.54

SPECIES	COMMON NAME	TOTAL PLS LBS	UNIT PRICE (\$/PLS LB)	EXTENSION PRICE
PROJECT #6: GRANT WCS MES	SIC	•		•
Andropogon scoparius	LITTLE BLUESTEM GRASS	10.00	\$12.40	\$124.00
Carex bicknellii	COPPER-SHOULDERED OVAL SEDGE	0.00	\$214.00	\$0.00
Aclepias verticillata	WHORLED MILKWEED	0.20	\$1,199.00	\$239.80
Aster azureus	SKY-BLUE ASTER	1.00	\$464.00	\$464.00
Aster ericoides	HEATH ASTER	0.50	\$949.00	\$474.50
Aster laevis	SMOOTH BLUE ASTER	1.00	\$244.00	\$244.00
Aster novae-angliae	NEW ENGLAND ASTER	0.75	\$354.00	\$265.50
Baptisia leucophaea	CREAM WILD INDIGO	0.30	\$1,499.00	\$449.70
Cassia marilandica	MARYLAND SENNA	1.00	\$179.00	\$179.00
Ceanothus americanus	NEW JERSEY TEA	1.00	\$219.00	\$219.00
Dodecatheon meadia	SHOOTING STAR	0.50	\$1,149.00	\$574.50
Euphorbia corollata	FLOWERING SPURGE	0.50	\$759.00	\$379.50
Helianthus rigidus	PRAIRIE SUNFLOWER	1.00	\$384.00	\$384.00
Parthenium integrifolium	WILD QUININE	3.00	\$114.00	\$342.00
Physostegia virginiana	OBEDIENT PLANT	1.00	\$219.00	\$219.00
Pycnanthemum virginianum	COMMON MOUNTAIN MINT	0.25	\$594.00	\$148.50
Rudbeckia hirta	BLACK-EYED SUSAN	0.63	\$27.00	\$17.01
Rudbeckia subtomentosa	SWEET BLACK-EYED SUSAN	0.50	\$149.00	\$74.50
Silphium integrifolium	ROSIN WEED	2.00	\$194.00	\$388.00
Solidago nemoralis	OLD-FIELD GOLDENROD	0.25	\$299.00	\$74.75
Tradescantia ohiensis	COMMON SPIDERWORT	1.00	\$219.00	\$219.00
Zizia aptera	HEART-LEAVED MEADOW PARSNIP	0.00	\$469.00	\$0.00
Zizia aurea	GOLDEN ALEXANDERS	5.00	\$88.00	\$440.00
PROJECT TOTAL: PROJECT #7: GRANT WCS DM				\$5,920.26
Cassia fasciculata	PARTRIDGE PEA	6.25	\$14.90	\$93.13
Onosmodium hispidissimum	MARBLESEED	0.02	\$624.00	\$12.48
PROJECT TOTAL: PROJECT #8: GRANT NRC WO	ODLAND			\$105.61
Elymus canadensis	CANADA WILD RYE	81.25	\$8.90	\$723.13
Elymus villosus	SILKY WILD RYE	73.13	\$64.00	\$4,680.32
Glyceria striata	FOWL MANNA GRASS	8.13	\$139.00	\$1,130.07
Hystrix patula	BOTTLEBRUSH GRASS	48.75	\$72.00	\$3,510.00
Aquilegia canadensis	WILD COLUMBINE	4.06	\$424.00	\$1,721.44
Aster lateriflorus	SIDE-FLOWERING ASTER	0.81	\$824.00	\$667.44
Dodecatheon meadia	SHOOTING STAR	0.81	\$1,149.00	\$930.69
Lobelia inflata	INDIAN TOBACCO	0.16	\$999.00	\$159.84
Rudbeckia hirta	BLACK-EYED SUSAN	0.81	\$27.00	\$21.87
Zizia aurea	GOLDEN ALEXANDERS	16.25	\$88.00	\$1,430.00

PROJECT TOTAL: \$14,974.80

SPECIES	COMMON NAME	TOTAL PLS LBS	UNIT PRICE (\$/PLS LB)	EXTENSION PRICE
Andropogon scoparius	LITTLE BLUESTEM GRASS	300.00	\$12.40	\$3,720.00
Elymus canadensis	CANADA WILD RYE	150.00	\$8.90	\$1,335.00
Glyceria striata	FOWL MANNA GRASS	18.75	\$139.00	\$2,606.25
Panicum virgatum	SWITCH GRASS	84.38	\$6.40	\$540.03
Aster azureus	SKY-BLUE ASTER	0.94	\$464.00	\$436.16
Aster ericoides	HEATH ASTER	1.50	\$949.00	\$1,423.50
Aster laevis	SMOOTH BLUE ASTER	4.69	\$244.00	\$1,144.36
Aster lateriflorus	SIDE-FLOWERING ASTER	1.88	\$824.00	\$1,549.12
Aster novae-angliae	NEW ENGLAND ASTER	3.75	\$354.00	\$1,327.50
Cassia fasciculata	PARTRIDGE PEA	75.00	\$14.90	\$1,117.50
Cassia marilandica	MARYLAND SENNA	1.50	\$179.00	\$268.50
Desmodium canadense	SHOWY TICK TREFOIL	12.50	\$79.00	\$987.50
Dodecatheon meadia	SHOOTING STAR	1.88	\$1,149.00	\$2,160.12
Euphorbia corollata	FLOWERING SPURGE	9.00	\$759.00	\$6,831.00
Gentiana flavida	YELLOWISH GENTIAN	0.94	\$394.00	\$370.36
Lespedeza capitata	ROUND-HEADED BUSH CLOVER	25.63	\$89.00	\$2,281.07
Pycnanthemum virginianum	COMMON MOUNTAIN MINT	0.26	\$594.00	\$154.44
Rudbeckia hirta	BLACK-EYED SUSAN	0.94	\$27.00	\$25.38
Solidago nemoralis	OLD-FIELD GOLDENROD	0.94	\$299.00	\$281.06
Thalictrum dasycarpum	PURPLE MEADOW RUE	9.38	\$159.00	\$1,491.42
Zizia aurea	GOLDEN ALEXANDERS	18.75	\$88.00	\$1,650.00

PROJECT TOTAL: \$31,700.27

PROJECT #10: GRANT NRC WP

Carex annectens	LARGE YELLOW FOX SEDGE	2.50	\$94.00	\$235.00
Carex cristatella	CRESTED OVAL SEDGE	5.00	\$229.00	\$1,145.00
Carex granularis	PALE SEDGE	1.85	\$444.00	\$821.40
Carex stipata	COMMON FOX SEDGE	5.00	\$279.00	\$1,395.00
Spartina pectinata	PRAIRIE CORD GRASS	22.50	\$59.00	\$1,327.50
Aster novae-angliae	NEW ENGLAND ASTER	2.50	\$354.00	\$885.00
Baptisia leucantha	WHITE WILD INDIGO	4.00	\$144.00	\$576.00
Bidens coronata	TALL SWAMP MARIGOLD	10.00	\$184.00	\$1,840.00
Eupatorium perfoliatum	COMMON BONESET	0.75	\$519.00	\$389.25
Lobelia cardinalis	CARDINAL FLOWER	0.25	\$1,094.00	\$273.50
Pedicularis lanceolata	FEN BETONY	2.50	\$159.00	\$397.50
Pycnanthemum virginianum	COMMON MOUNTAIN MINT	0.50	\$594.00	\$297.00
Zizia aurea	GOLDEN ALEXANDERS	2.50	\$88.00	\$220.00

PROJECT TOTAL: \$9,802.15

SPECIES	COMMON NAME	TOTAL PLS LBS	UNIT PRICE (\$/PLS LB)	EXTENSION PRICE
PROJECT #11: LAKEWOOD WET				
Calamagrostis canadensis	BLUE JOINT GRASS	0.19	\$714.00	\$135.66
Carex bebbii	BEBB'S OVAL SEDGE	0.38	\$174.00	\$66.12
Carex comosa	BRISTLY SEDGE	0.88	\$124.00	\$109.12
Carex cristatella	CRESTED OVAL SEDGE	0.50	\$229.00	\$114.50
Carex stipata	COMMON FOX SEDGE	0.83	\$279.00	\$231.57
Scirpus validus creber	GREAT BULRUSH	0.50	\$94.00	\$47.00
Spartina pectinata	PRAIRIE CORD GRASS	2.75	\$59.00	\$162.25
Aster novae-angliae	NEW ENGLAND ASTER	0.25	\$354.00	\$88.50
Chelone glabra	TURTLEHEAD	0.20	\$979.00	\$195.80
Eupatorium perfoliatum	COMMON BONESET	0.10	\$519.00	\$51.90
Pycnanthemum virginianum	COMMON MOUNTAIN MINT	0.06	\$594.00	\$35.64
Thalictrum dasycarpum	PURPLE MEADOW RUE	1.25	\$159.00	\$198.75

PROJECT TOTAL: \$1,436.81

PROJECT #12: LAKEWOOD DM

Andropogon scoparius	LITTLE BLUESTEM GRASS	45.00	\$12.40	\$558.00
Carex bicknellii	COPPER-SHOULDERED OVAL SEDGE	4.50	\$214.00	\$963.00
Carex brevior	PLAINS OVAL SEDGE	3.94	\$109.00	\$429.46
Elymus canadensis	CANADA WILD RYE	18.00	\$8.90	\$160.20
Panicum virgatum	SWITCH GRASS	1.69	\$6.40	\$10.82
Aster laevis	SMOOTH BLUE ASTER	1.13	\$244.00	\$275.72
Desmodium canadense	SHOWY TICK TREFOIL	3.94	\$79.00	\$311.26
Lespedeza capitata	ROUND-HEADED BUSH CLOVER	4.50	\$89.00	\$400.50
Parthenium integrifolium	WILD QUININE	2.81	\$114.00	\$320.34
Rudbeckia hirta	BLACK-EYED SUSAN	0.56	\$27.00	\$15.12
Rudbeckia subtomentosa	SWEET BLACK-EYED SUSAN	0.84	\$149.00	\$125.16
Silphium integrifolium	ROSIN WEED	1.13	\$194.00	\$219.22
Solidago nemoralis	OLD-FIELD GOLDENROD	0.20	\$299.00	\$59.80
Tradescantia ohiensis	COMMON SPIDERWORT	2.81	\$219.00	\$615.39
Zizia aurea	GOLDEN ALEXANDERS	2.25	\$88.00	\$198.00

PROJECT TOTAL: \$4,661.99

VENDOR TOTAL: \$87,629.20

Desmodium canadense

SPECIES	COMMON NAME	TOTAL PLS LBS	UNIT PRICE (\$/PLS LB)	EXTENSION PRICE
PROJECT #1: CAHOKIA UPLA	ND			
Carex rosea	CURLY-STYLED WOOD SEDGE	1.25	\$1,600.00	\$2,000.00
Cinna arundinacea	COMMON WOOD REED	1.00	\$560.00	\$560.00
Allium tricoccum	WILD LEEK	5.00	\$320.00	\$1,600.00
Asarum canadense	WILD GINGER	0.75	\$1,440.00	\$1,080.00
Campanula americana	TALL BELLFLOWER	0.68	\$800.00	\$544.00
Eupatorium rugosum	WHITE SNAKEROOT	0.34	\$800.00	\$272.00
Lobelia siphilitica	GREAT BLUE LOBELIA	0.34	\$640.00	\$217.60
Osmorhiza claytonii	HAIRY SWEET CICELY	2.00	\$320.00	\$640.00
Penstemon digitalis	FOXGLOVE BEARD TONGUE	0.51	\$128.00	\$65.28
Sanguinaria canadensis	BLOODROOT	0.34	\$1,200.00	\$408.00
Scrophularia marilandica	LATE FIGWORT	0.34	\$384.00	\$130.56
Smilacina racemosa	FEATHERY FALSE SOLOMON'S SEAL	8.00	\$448.00	\$3,584.00
Thalictrum dioicum	EARLY MEADOW RUE	0.60	\$960.00	\$576.00
PROJECT TOTAL:				\$11,677.44
PROJECT #2: CAHOKIA WET				
Carex intumescens	SHINING BUR SEDGE	4.50	\$448.00	\$2,016.00
Carex lacustris	COMMON LAKE SEDGE	1.50	\$800.00	\$1,200.00
Carex lupulina	COMMON HOP SEDGE	6.00	\$320.00	\$1,920.00
Cinna arundinacea	COMMON WOOD REED	0.59	\$560.00	\$330.40
Lobelia siphilitica	GREAT BLUE LOBELIA	0.22	\$640.00	\$140.80
Rumex orbiculatus	GREAT WATER DOCK	2.00	\$384.00	\$768.00
PROJECT TOTAL:				\$6,375.20
PROJECT #3: NRC PRAIRIE				
Allium cernuum	NODDING WILD ONION	0.31	\$128.00	\$39.68
Penstemon digitalis	FOXGLOVE BEARD TONGUE	0.16	\$128.00	\$20.48
PROJECT TOTAL:				\$60.16
DDO IECT #4. NDC WOODLAN	D.			
PROJECT #4: NRC WOODLAN Carex rosea	CURLY-STYLED WOOD SEDGE	0.16	\$1,600.00	\$256.00
Cinna arundinacea	COMMON WOOD REED	0.16	\$560.00	\$89.60
Campanula americana	TALL BELLFLOWER	0.13	\$800.00	\$104.00
Penstemon digitalis	FOXGLOVE BEARD TONGUE	0.16	\$128.00	\$20.48
PROJECT TOTAL:	TOTAGEO VE BELINE TOTAGEE	0.10	ψ1 2 0.00	\$470.08
				Ψ.7.0.00
PROJECT #5: NRC WETLAND	CDE AT WATER DOOK	0.62	¢204.00	¢241.02
Rumex orbiculatus	GREAT WATER DOCK	0.63	\$384.00	\$241.92
PROJECT TOTAL: PROJECT #6: GRANT WCS ME	ESIC			\$241.92
Allium cernuum	NODDING WILD ONION	3.00	\$128.00	\$384.00
Baptisia leucantha	WHITE WILD INDIGO	3.00	\$384.00	\$1,152.00
Coreopsis palmata	PRAIRIE COREOPSIS	0.80	\$1,040.00	\$832.00
Corcopsis parmata	CHOWN TICK TREEOU	5.00	\$1,040.00	\$632.00

SHOWY TICK TREFOIL

5.00

\$160.00

\$800.00

VENDOR ORDER: CARDNO, INC.

SPECIES	COMMON NAME	TOTAL PLS LBS	UNIT PRICE (\$/PLS LB)	EXTENSION PRICE
Eryngium yuccifolium	RATTLESNAKE MASTER	4.00	\$160.00	\$640.00
Helianthus mollis	DOWNY SUNFLOWER	0.50	\$720.00	\$360.00
Lespedeza capitata	ROUND-HEADED BUSH CLOVER	7.50	\$160.00	\$1,200.00
Penstemon digitalis	FOXGLOVE BEARD TONGUE	0.50	\$128.00	\$64.00
Silphium laciniatum	COMPASS PLANT	10.00	\$384.00	\$3,840.00
Silphium terebinthinaceum	PRAIRIE DOCK	11.50	\$256.00	\$2,944.00

PROJECT TOTAL: \$12,216.00

PROJECT #8: GRANT NRC WOODLAND

Cinna arundinacea	COMMON WOOD REED	3.25	\$560.00	\$1,820.00
Campanula americana	TALL BELLFLOWER	0.41	\$800.00	\$328.00
Penstemon digitalis	FOXGLOVE BEARD TONGUE	0.81	\$128.00	\$103.68
Scrophularia marilandica	LATE FIGWORT	0.81	\$384.00	\$311.04

PROJECT TOTAL: \$2,562.72

PROJECT #9: GRANT NRC PRAIRIE

Carex granularis	PALE SEDGE	5.00	\$240.00	\$1,200.00
Allium cernuum	NODDING WILD ONION	37.50	\$128.00	\$4,800.00
Baptisia leucantha	WHITE WILD INDIGO	26.00	\$384.00	\$9,984.00
Coreopsis palmata	PRAIRIE COREOPSIS	4.20	\$1,040.00	\$4,368.00
Desmodium canadense	SHOWY TICK TREFOIL	25.00	\$160.00	\$4,000.00
Eryngium yuccifolium	RATTLESNAKE MASTER	20.00	\$160.00	\$3,200.00
Helianthus mollis	DOWNY SUNFLOWER	1.00	\$720.00	\$720.00
Lespedeza capitata	ROUND-HEADED BUSH CLOVER	2.50	\$160.00	\$400.00
Penstemon digitalis	FOXGLOVE BEARD TONGUE	1.88	\$128.00	\$240.64
Silphium laciniatum	COMPASS PLANT	5.00	\$384.00	\$1,920.00
Silphium terebinthinaceum	PRAIRIE DOCK	3.50	\$256.00	\$896.00

PROJECT TOTAL: \$31,728.64

PROJECT #10: GRANT NRC WP

Eryngium yuccifolium	RATTLESNAKE MASTER	7.50	\$160.00	\$1,200.00
Lobelia siphilitica	GREAT BLUE LOBELIA	0.25	\$640.00	\$160.00
PROJECT TOTAL:				\$1,360.00

PROJECT #11: LAKEWOOD WET

Glyceria canadensis	RATTLESNAKE GRASS	0.40	\$560.00	\$224.00
Lobelia siphilitica	GREAT BLUE LOBELIA	0.04	\$640.00	\$25.60
Rumex orbiculatus	GREAT WATER DOCK	1.50	\$384.00	\$576.00

PROJECT TOTAL: \$825.60

PROJECT #12: LAKEWOOD DM

Allium cernuum	NODDING WILD ONION	3.38	\$128.00	\$432.64
Eryngium yuccifolium	RATTLESNAKE MASTER	5.06	\$160.00	\$809.60
Penstemon digitalis	FOXGLOVE BEARD TONGUE	0.56	\$128.00	\$71.68

PROJECT TOTAL: \$1,313.92

VENDOR TOTAL: \$68,831.68

SPECIES	COMMON NAME	TOTAL	UNIT PRICE	EXTENSION
PROJECT #1: CAHOKIA UPLAND	00.11.01(11.11)2	PLS LBS	(\$/PLS LB)	PRICE
Carex sprengelii	LONG-BEAKED SEDGE	3.00	\$300.00	\$900.00
Agastache scrophulariaefolia	PURPLE GIANT HYSSOP	0.51	\$300.00	\$163.20
Rudbeckia triloba	BROWN-EYED SUSAN	0.34	\$160.00	\$54.40
Veronicastrum virginicum	CULVER'S ROOT	0.34	\$800.00	\$272.00
PROJECT TOTAL:	COLVERS ROOT	0.54	φουσ.συ	\$1,389.60
TROJECT TOTAE.				Ψ1,307.00
PROJECT #2: CAHOKIA WET				
Bromus latiglumis	EAR-LEAVED BROME	2.00	\$200.00	\$400.00
	NARROW-LEAVED CATTAIL	2.01	фор ор	#1.50.00
Carex squarrosa	SEDGE	2.01	\$80.00	\$160.80
Carex tribuloides	AWL-FRUITED OVAL SEDGE	0.45	\$500.00	\$225.00
Rudbeckia triloba	BROWN-EYED SUSAN	0.11	\$160.00	\$17.60
PROJECT TOTAL:				\$803.40
PROJECT #3: NRC PRAIRIE				
Silphium laciniatum	COMPASS PLANT	1.25	\$400.00	\$500.00
Silphium terebinthinaceum	PRAIRIE DOCK	1.56	\$300.00	\$468.00
Veronicastrum virginicum	CULVER'S ROOT	0.16	\$800.00	\$128.00
PROJECT TOTAL:	COLVERS ROOT	0.10	φοσοίσο	\$1,096.00
				, ,
PROJECT #4: NRC WOODLAND				
Veronicastrum virginicum	CULVER'S ROOT	0.16	\$800.00	\$128.00
PROJECT TOTAL:				\$128.00
PROJECT #5: NRC WETLAND				
Carex tribuloides	AWL-FRUITED OVAL SEDGE	0.16	\$500.00	\$80.00
PROJECT TOTAL:				\$80.00
PROJECT #6: GRANT WCS MESIC				1
Sporobolus heterolepis	PRAIRIE DROPSEED	2.00	\$300.00	\$600.00
Anemone canadensis	MEADOW ANEMONE	1.00	\$300.00	\$300.00
Cacalia atriplicifolia	PALE INDIAN PLANTAIN	3.00	\$140.00	\$420.00
Desmodium illinoense	ILLINOIS TICK TREFOIL	1.50	\$320.00	\$480.00
Heliopsis helianthoides	FALSE SUNFLOWER	7.50	\$32.00	\$240.00
Potentilla arguta	PRAIRIE CINQUEFOIL	0.20	\$240.00	\$48.00
Solidago speciosa	SHOWY GOLDENROD	0.25	\$1,000.00	\$250.00
Veronicastrum virginicum	CULVER'S ROOT	0.08	\$800.00	\$64.00
PROJECT TOTAL:				\$2,402.00
DROJECT W. OR AND WOOD				
PROJECT #7: GRANT WCS DM		•		
Liatris aspera	ROUGH BLAZING STAR	1.00	\$700.00	\$700.00

PROJECT TOTAL: \$700.00 VENDOR ORDER: AGRECOL, LLC

VENDOR ORDER: NORECOL, ELEC				
SPECIES	COMMON NAME	TOTAL PLS LBS	UNIT PRICE (\$/PLS LB)	EXTENSION PRICE
PROJECT #8: GRANT NRC WOODL	AND			
Bromus latiglumis	EAR-LEAVED BROME	32.50	\$200.00	\$6,500.00
Agastache scrophulariaefolia	PURPLE GIANT HYSSOP	1.63	\$320.00	\$521.60
Cacalia atriplicifolia	PALE INDIAN PLANTAIN	16.25	\$140.00	\$2,275.00
Heliopsis helianthoides	FALSE SUNFLOWER	8.13	\$32.00	\$260.16
Rudbeckia triloba	BROWN-EYED SUSAN	2.03	\$160.00	\$324.80
Solidago speciosa	SHOWY GOLDENROD	1.63	\$1,000.00	\$1,630.00
PROJECT TOTAL:				\$11,511.56

PROJECT #9: GRANT NRC PRAIRIE

Sporobolus heterolepis	PRAIRIE DROPSEED	20.00	\$300.00	\$6,000.00
Cacalia atriplicifolia	PALE INDIAN PLANTAIN	18.75	\$140.00	\$2,625.00
Desmanthus illinoensis	ILLINOIS SENSITIVE PLANT	56.25	\$20.00	\$1,125.00
Desmodium illinoense	ILLINOIS TICK TREFOIL	30.00	\$320.00	\$9,600.00
Heliopsis helianthoides	FALSE SUNFLOWER	18.75	\$32.00	\$600.00
Liatris aspera	ROUGH BLAZING STAR	15.00	\$700.00	\$10,500.00
Potentilla arguta	PRAIRIE CINQUEFOIL	0.48	\$240.00	\$115.20
Rudbeckia triloba	BROWN-EYED SUSAN	0.47	\$160.00	\$75.20
Silphium terebinthinaceum	PRAIRIE DOCK	5.88	\$300.00	\$1,764.00
Solidago speciosa	SHOWY GOLDENROD	1.88	\$1,000.00	\$1,880.00
Veronicastrum virginicum	CULVER'S ROOT	2.81	\$800.00	\$2,248.00

PROJECT TOTAL: \$36,532.40

PROJECT #10: GRANT NRC WP

Elymus riparius	RIVERBANK WILD RYE	80.00	\$20.00	\$1,600.00
Scirpus pendulus	RED BULRUSH	2.50	\$180.00	\$450.00
Anemone canadensis	MEADOW ANEMONE	5.00	\$300.00	\$1,500.00
Heliopsis helianthoides	FALSE SUNFLOWER	2.50	\$32.00	\$80.00
Hypericum pyramidatum	GREAT ST. JOHN'S WORT	0.50	\$100.00	\$50.00
Veronicastrum virginicum	CULVER'S ROOT	0.05	\$800.00	\$40.00

PROJECT TOTAL: \$3,720.00

PROJECT #11: LAKEWOOD WET

Carex hystericina	PORCUPINE SEDGE	0.88	\$120.00	\$105.60
Anemone canadensis	MEADOW ANEMONE	1.50	\$300.00	\$450.00
Veronicastrum virginicum	CULVER'S ROOT	0.03	\$800.00	\$20.00

PROJECT TOTAL: \$575.60

PROJECT #12: LAKEWOOD DM

Helianthus occidentalis	WESTERN SUNFLOWER	1.13	\$300.00	\$339.00
Liatris aspera	ROUGH BLAZING STAR	2.81	\$700.00	\$1,967.00
Rudbeckia triloba	BROWN-EYED SUSAN	0.57	\$160.00	\$91.20
Solidago speciosa	SHOWY GOLDENROD	0.45	\$1,000.00	\$450.00

PROJECT TOTAL: \$2,847.20

SPECIES	COMMON NAME	TOTAL PLS LBS	UNIT PRICE (\$/PLS LB)	EXTENSION PRICE
PROJECT #1: CAHOKIA UPLAND				
Carex blanda	COMMON WOOD SEDGE	3.25	\$590.00	\$1,917.50
Carex davisii	AWNED GRACEFUL SEDGE	5.50	\$200.00	\$1,100.00
Carex normalis	SPREADING OVAL SEDGE	3.41	\$185.00	\$630.85
Anemone virginiana	TALL ANEMONE	1.25	\$600.00	\$750.00
Aster drummondii	DRUMMOND'S ASTER	0.34	\$985.00	\$334.90
Cryptotaenia canadensis	HONEWORT	3.41	\$105.00	\$358.05
Eupatorium purpureum	PURPLE JOE PYE WEED	1.02	\$425.00	\$433.50
Verbena urticifolia	HAIRY WHITE VERVAIN	0.34	\$105.00	\$35.70
PROJECT TOTAL:				\$5,560.50

PROJECT #2: CAHOKIA WET

Carex grayi	COMMON BUR SEDGE	8.00	\$405.00	\$3,240.00
Carex grisea	WOOD GRAY SEDGE	2.00	\$515.00	\$1,030.00
Carex vulpinoidea	BROWN FOX SEDGE	0.22	\$35.00	\$7.70
Leersia oryzoides	RICE CUT GRASS	0.22	\$65.00	\$14.30
Poa palustris	MARSH BLUE GRASS	0.22	\$25.00	\$5.50
Asclepias incarnata	SWAMP MILKWEED	2.24	\$175.00	\$392.00
Cassia hebecarpa	WILD SENNA	0.22	\$62.00	\$13.64
Iris virginica shrevei	BLUE FLAG	4.48	\$145.00	\$649.60
Mimulus ringens	MONKEY FLOWER	0.22	\$225.00	\$49.50
Sagittaria latifolia	COMMON ARROWHEAD	0.22	\$135.00	\$29.70

PROJECT TOTAL: \$5,431.94

PROJECT #3: NRC PRAIRIE

Bromus kalmii	PRAIRIE BROME	1.25	\$82.00	\$102.50
Coreopsis tripteris	TALL COREOPSIS	0.19	\$280.00	\$53.20
Echinacea pallida	PURPLE CONEFLOWER	1.25	\$105.00	\$131.25
	BROAD-LEAVED PURPLE			
Echinacea purpurea	CONEFLOWER	1.00	\$35.00	\$35.00
Monarda fistulosa	WILD BERGAMOT	0.16	\$165.00	\$26.40
Ratibida pinnata	YELLOW CONEFLOWER	0.16	\$80.00	\$12.80

PROJECT TOTAL: \$361.15

PROJECT #4: NRC WOODLAND

Carex blanda	COMMON WOOD SEDGE	0.31	\$590.00	\$182.90
Carex davisii	AWNED GRACEFUL SEDGE	0.31	\$200.00	\$62.00
Carex normalis	SPREADING OVAL SEDGE	0.31	\$185.00	\$57.35
Aster drummondii	DRUMMOND'S ASTER	0.13	\$985.00	\$128.05
Heracleum maximum	COW PARSNIP	0.31	\$105.00	\$32.55

PROJECT TOTAL: \$462.85

SPECIES	COMMON NAME	TOTAL PLS LBS	UNIT PRICE (\$/PLS LB)	EXTENSION PRICE
PROJECT #5: NRC WETLAND				
Carex molesta	FIELD OVAL SEDGE	0.31	\$150.00	\$46.50
Carex vulpinoidea	BROWN FOX SEDGE	0.31	\$35.00	\$10.85
Juncus torreyi	TORREY'S RUSH	0.06	\$160.00	\$9.60
Asclepias incarnata	SWAMP MILKWEED	0.78	\$175.00	\$136.50
Helenium autumnale	SNEEZEWEED	0.16	\$225.00	\$36.00
Iris virginica shrevei	BLUE FLAG	1.00	\$145.00	\$145.00
Lycopus americanus	COMMON WATER HOREHOUND	0.06	\$120.00	\$7.20
Mimulus ringens	MONKEY FLOWER	0.06	\$225.00	\$13.50
Verbena hastata	BLUE VERVAIN	0.16	\$70.00	\$11.20
			·	****

PROJECT TOTAL: \$416.35

PROJECT #6: GRANT WCS MESIC

Asclepias tuberosa	BUTTERFLY WEED	2.50	\$300.00	\$750.00
Astragalus canadensis	CANADIAN MILK VETCH	5.00	\$60.00	\$300.00
Cassia hebecarpa	WILD SENNA	4.00	\$62.00	\$248.00
Coreopsis tripteris	TALL COREOPSIS	2.00	\$280.00	\$560.00
Echinacea pallida	PURPLE CONEFLOWER	5.00	\$105.00	\$525.00
Gentiana andrewsii	BOTTLE GENTIAN	0.05	\$905.00	\$45.25
Heuchera richardsonii	PRAIRIE ALUM ROOT	0.08	\$1,350.00	\$108.00
Liatris spicata	MARSH BLAZING STAR	5.00	\$115.00	\$575.00
Monarda fistulosa	WILD BERGAMOT	0.50	\$165.00	\$82.50
Petalostemum candidum	WHITE PRAIRIE CLOVER	2.50	\$125.00	\$312.50
Petalostemum purpureum	PURPLE PRAIRIE CLOVER	2.50	\$60.00	\$150.00
Ratibida pinnata	YELLOW CONEFLOWER	2.50	\$80.00	\$200.00
Solidago rigida	STIFF GOLDENROD	0.25	\$145.00	\$36.25

PROJECT TOTAL: \$3,892.50

PROJECT #7: GRANT WCS DM

Bromus kalmii	PRAIRIE BROME	3.75	\$82.00	\$307.50
Liatris pycnostachya		1.50	\$225.00	\$337.50
Monarda fistulosa	WILD BERGAMOT	0.03	\$165.00	\$4.95

PROJECT TOTAL: \$649.95

PROJECT #8: GRANT NRC WOODLAND

Juncus tenuis	PATH RUSH	0.81	\$160.00	\$129.60
Anemone virginiana	TALL ANEMONE	2.44	\$600.00	\$1,464.00
Aster shortii	SHORT'S ASTER	0.81	\$1,200.00	\$972.00
Eupatorium purpureum	PURPLE JOE PYE WEED	1.63	\$425.00	\$692.75
Verbena hastata	BLUE VERVAIN	0.81	\$70.00	\$56.70

PROJECT TOTAL: \$3,315.05

SPECIES	COMMON NAME	TOTAL PLS LBS	UNIT PRICE (\$/PLS LB)	EXTENSION PRICE
PROJECT #9: GRANT NRC PR	AIRIE	120 200	(4,115,25)	THEE
Bromus kalmii	PRAIRIE BROME	46.89	\$82.00	\$3,844.98
Juncus tenuis	PATH RUSH	1.88	\$160.00	\$300.80
Asclepias tuberosa	BUTTERFLY WEED	25.00	\$300.00	\$7,500.00
Astragalus canadensis	CANADIAN MILK VETCH	18.75	\$60.00	\$1,125.00
Cassia hebecarpa	WILD SENNA	9.38	\$62.00	\$581.56
Coreopsis tripteris	TALL COREOPSIS	10.00	\$280.00	\$2,800.00
Echinacea pallida	PURPLE CONEFLOWER	37.50	\$105.00	\$3,937.50
Monarda fistulosa	WILD BERGAMOT	2.81	\$165.00	\$463.65
Petalostemum candidum	WHITE PRAIRIE CLOVER	9.38	\$125.00	\$1,172.50
Petalostemum purpureum	PURPLE PRAIRIE CLOVER	9.38	\$60.00	\$562.80
Pycnanthemum virginianum	COMMON MOUNTAIN MINT	0.68	\$480.00	\$326.40
Solidago rigida	STIFF GOLDENROD	2.81	\$145.00	\$407.45
PROJECT TOTAL:				\$23,022.64

PROJECT #10: GRANT NRC WP

Carex vulpinoidea	BROWN FOX SEDGE	7.50	\$35.00	\$262.50
Juncus dudleyi	DUDLEY'S RUSH	0.75	\$250.00	\$187.50
Leersia oryzoides	RICE CUT GRASS	10.00	\$65.00	\$650.00
Asclepias incarnata	SWAMP MILKWEED	22.50	\$175.00	\$3,937.50
Coreopsis tripteris	TALL COREOPSIS	7.50	\$280.00	\$2,100.00
Gentiana andrewsii	BOTTLE GENTIAN	0.50	\$905.00	\$452.50
Helenium autumnale	SNEEZEWEED	0.50	\$225.00	\$112.50
Helianthus grosseserratus	SAWTOOTH SUNFLOWER	2.50	\$600.00	\$1,500.00
Liatris spicata	MARSH BLAZING STAR	7.50	\$115.00	\$862.50
Lycopus americanus	COMMON WATER HOREHOUND	0.50	\$120.00	\$60.00
Lythrum alatum	WINGED LOOSESTRIFE	0.03	\$1,300.00	\$39.00
Mimulus ringens	MONKEY FLOWER	0.50	\$225.00	\$112.50
Silphium perfoliatum	CUP PLANT	2.50	\$110.00	\$275.00
Verbena hastata	BLUE VERVAIN	1.25	\$70.00	\$87.50

PROJECT TOTAL: \$10,639.00

PROJECT #11: LAKEWOOD WET

Carex vulpinoidea	BROWN FOX SEDGE	0.25	\$35.00	\$8.75
Juncus dudleyi	DUDLEY'S RUSH	0.02	\$250.00	\$5.00
Juncus torreyi	TORREY'S RUSH	0.03	\$160.00	\$4.80
Leersia oryzoides	RICE CUT GRASS	0.50	\$65.00	\$32.50
Asclepias incarnata	SWAMP MILKWEED	3.00	\$175.00	\$525.00
Gentiana andrewsii	BOTTLE GENTIAN	0.08	\$905.00	\$72.40
Helenium autumnale	SNEEZEWEED	0.13	\$225.00	\$29.25
Liatris spicata	MARSH BLAZING STAR	1.50	\$115.00	\$172.50

SPECIES	COMMON NAME	TOTAL PLS LBS	UNIT PRICE (\$/PLS LB)	EXTENSION PRICE
Lycopus americanus	COMMON WATER HOREHOUND	0.09	\$120.00	\$10.80
Lythrum alatum	WINGED LOOSESTRIFE	0.01	\$1,300.00	\$13.00
Mimulus ringens	MONKEY FLOWER	0.06	\$225.00	\$13.50
Silphium perfoliatum	CUP PLANT	1.00	\$110.00	\$110.00
Verbena hastata	BLUE VERVAIN	0.15	\$70.00	\$10.50
Vernonia fasciculata	COMMON IRONWEED	0.70	\$195.00	\$136.50

PROJECT TOTAL: \$1,144.50

PROJECT #12: LAKEWOOD DM

Bromus kalmii	PRAIRIE BROME	18.00	\$82.00	\$1,476.00
Coreopsis lanceolata	SAND COREOPSIS	2.25	\$35.00	\$78.75
Coreopsis tripteris	TALL COREOPSIS	1.40	\$280.00	\$392.00
Echinacea pallida	PURPLE CONEFLOWER	8.44	\$105.00	\$886.20
Liatris pycnostachya	PRAIRIE BLAZING STAR	3.94	\$225.00	\$886.50
Monarda fistulosa	WILD BERGAMOT	0.62	\$165.00	\$102.30
Petalostemum purpureum	PURPLE PRAIRIE CLOVER	2.25	\$60.00	\$135.00
Ratibida pinnata	YELLOW CONEFLOWER	1.69	\$80.00	\$135.20
Solidago rigida	STIFF GOLDENROD	0.98	\$145.00	\$142.10
Verbena stricta	HOARY VERVAIN	1.69	\$75.00	\$126.75

PROJECT TOTAL: \$4,360.80

VENDOR TOTAL: \$59,257.23